1. Reduce expression to lowest terms
    
[image: image1.wmf]9

2

2

4

x

x


2.  The annual cost in dollars for removing p% of the toxic chemicals from a town’s water supply is given by the formula 
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a. Estimate the cost for removing 90% and 95% of the toxic chemicals.

b. Use the formula to determine the cost for removing 99.5% of the toxic chemicals.

c. What happens to the cost as the percentage of pollutants removed approaches 100%?

3. Perform the indicated operation
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4. Henry sold 120 magazine subscriptions in x + 2 days.  If he sold at the same rate for another week, then how many magazines did he sell in the extra week?

5. Find the LCD for the given rational expression, and convert rational expression into an equivalent rational expression with the LCD as the denominator.  
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6. Find the LCD for the given rational expression, and convert rational expression into an equivalent rational expression with the LCD as the denominator.  
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7. Perform indicated operation.  Reduce each answer to lowest terms.
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8. Melanie can paint a certain barn by herself in x days.  Her helper Melissa can paint the same barn by herself in 2x days.  Write a rational expression for the fraction of the barn that they complete in one day by working together.  Evaluate the expression for x = 5.

9. Simplify each complex fraction.  Reduce each answer to lowest terms.
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10. At a well-known university, 
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 of the undergraduate students commute, and 
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of the graduate student commute.  One-tenth of the undergraduate students drive more than 40 miles daily, and 
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 of the graduate students drive more than 40 miles daily.  If there are twice as many undergraduate students as there are graduate students, then what fraction of the commuters drive more than 40 miles daily?

11. Solve equation
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12. Use the formula 
[image: image12.wmf]i

o

f

1

1

1

+

=

to find the image distance I for an object that is 2,000,000 mm from a 250-mm telephoto lens.
13. Among 100 coffee drinkers, 36 said that they preferred their coffee black and the rest did not prefer their coffee black. Find the ratio of those who prefer black coffee to those who prefer non-black coffee.

14. If four out of five doctors prefer fast food, then at a convention of445 doctors, how many prefer fast food?

15. To estimate the size of the bear population on the Keweenaw Peninsula, conservationists captured, tagged, and released 50 bears.  One year later, a random sample of 100 hears included only 2 tagged bears.  What is the conservationist’s estimate of the size of the bear population?

16. Solve for y.
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17. Smith bicycled 45miles going east from Durango, and Jones bicycled 70 miles. Jones averaged 5 miles per hour more than Smith, and his trip took one-half hour longer than Smith’s.  How fast was each one traveling?

18. A water tank has an inlet pipe and a drain pipe.  A full tank can be emptied in 30 minutes if the drain is opened and an empty tank can be filled in 45 minutes with the inlet pipe opened.  If both pipes are accidentally opened when the tank is full, then how long will it take to empty the tank?

19.  Find the root.  All variables represent nonnegative real numbers.
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20. Use formula 
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to determine who will feel colder:  a person in Minneapolis at 
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F with a 15 mph wind or a person in Chicago at 
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with a 25 mph wind.

21. Simplify expression.  Write answer with positive exponents. Assume that all variables represents positive real numbers.
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22. The radius of a sphere is given by the formula 
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, where V is its volume.  Find the radius of a spherical tank that has a volume of
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 cubic meters. 

23. An investment of $10,000 in 1997 in the Spartan Investment Grande Bond Fund grew to $14,309.61 in 2002.  Use the formula 
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, to find the 5 year average annual return.
24. Simplify the expression.
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25. Find the exact area of a triangle with a base of 
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meters and a height of 
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26. Simplify
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27. Solve equation.  Check for extraneous solutions. 
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28. Solve equation
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29. Write expression in the form a + bi, where a and b are real numbers.
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30. Write expression in the form a + bi, where a and b are real numbers.
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31. An outboard motor calls for a fuel mixture that has a gasoline ration fo50 to 1. How many pints of oil should be added to 6 gallons of gasoline?

32. Either perform the indicated operation or solve equation.
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33. Either perform the indicated operation or solve equation.
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34. Perform the indicated operation. Write answer in form a + bi.
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35. Anne is pulling on a 60 foot rope attached to the top ofa 48 foot tree while Walter is cutting the tree at its base. How far from the base of the tree is Anne standing?
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